
Commander Top 

P/N: EMP-10921 

Fits: 2011-12 800cc and 1000cc 

Includes: 

1. (1) Front Section 

2. (1) Rear Section 

3. (3) 1/8” x 1” x 48” Gasket 

4. (2) 1/8” x 1” x 20” Gasket 

5. (11) 1/4-20 x 3/4” Black Flange Bolts 

6. (11) 1/4-20 Nylon Nuts 

7. (5) 1/4” USS Flat Washers 

8. (6) 1/4” x 1-1/4” Black Fender Washers 

9. (2) 10-32 x 3/4” Truss Head Screw 

10. (2) #10 Rubber Washers 

11. (1) Light Housing 

12. (1) Water Proof Light 

13. (6) 2” dia. Rubber coated Galv. Clamp (band) 

 

Installation: 

1. Stick one 48” gasket to the flange on the rear section.   

2. Stick the remaining two 48” gaskets to the side bars 

of your cage. 

3. Center and stick the two 20” gaskets to the front and 

rear bars. 

4. Set both sections onto your cage.  Bolt them together 

using the black bolts, small washers, and nuts.  Put 

the washers on the bottom side. 

5. Attach your top to the cage using the remaining bolts, 

bands, black washers and nuts.  The large washers 

will go under the bolt head on the top. The bands 

wrap around the tube. (under the top) 

6. The light will go inside the housing and attach with 

the 10-32 screws.  Use the rubber washers on the top 

side to seal the holes. 

 

 


